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| -Du CLflO]}S (Q.No.11- 1'—5) Y{'nk the c01uct synonym of the g}ven wor d
Int;an&gent SRR S G '
A) 111ﬂex1ble B) c_(j;nplex PR -C_) _lallnqb__.'_'.__ e D) cowa1d

Intrepid TR : S R L
Aykind .-B) _dauntles_s_ REAEE '-C) successful- X D) cme]

_Martinet ' . S
A) amazmg e B) open hearted - C) taskmastei : D) Satlsﬁed RN

Directions (Q No. 14 16) Malk the cory ect antonym of the glven “ ord

Peevish

Afefl -B)_ﬁfa.ctions B 'C)_p_et_ulant D).af.fablé "

Profane

Mt e Owddy Dy

Remiss : i - P S T
A) neglectful _ B) caleful o C) nostalgzc Rt D)Iepeutlve

Directions (Q. NO, 17-20): Malk the cm rect pr eposrtmn to be fiiled in the gap
17. :

The company is crying - for fresh new talent. . i
A) at - B)in Cyout - - D)off

The fire fighters had to break the door to reach the .pe'ople tr apped inside.
A) out B) with C) off D) down
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19.
20.

21.

22,
23,
24,
25.
26.
27.
28.

29.

30,

31.

32.

33.

He finally managed to break free his attacker.
A) from B) with C)at D) on

The function has been put .
A) out B) off C) of D) on

Whlch Comm;ssmn advocated the establishment of a permanent Inter- State Councﬂ,
called ‘Inter-government Council? ' BT

A) Sarkaria Commission o B) Punchhi Commission

C) Radhakuelman Cozmmsmon o D) Moily Commlssmn 9

The laye1 of atmospheie wh1ch is used f01 teiecommumcatlon is

A) Troposphe1e _ B) Ionosphele C) Theunosphele S D) .Strét(')sp.here
Wthh one of the followmg is not a depaltment in the Mmlstiy of Fmance'7 Lo

A) Expendlture _ B) Economlc Affaus C) Bankmg D1v131on D) Revenue

The AswanHtgh Dam is located in o o _- Sl
A) Sudan S B) I__stae]__ _ C) U.S.A_._ L 'D) Bgypt S
.Kazuanga is famous for - A N '_-:1 | : :
-A)_z_ts Rhinoceros .~ B) 1ts T1g61 . OitsBirds . DjitsLion
Robustaisavéri_ety of _ B o i o
A) wheat produced in Africa .~ -~ B) coffee produced in Africa

C) rice produccd in Africa 3 _' TR _D) tea pleduced in Africa
Whicl: one of the followmg is not conecl}y matched _ e

A) Roht'mg —Ilnmehal Ptadesh RERA " B) Palglmt Kelala _

() Nathu La Anmachal Piades} : D) Lipulekh Uttazakhand

Whlch of the foliowmg gwup ot gases contubute most to the ‘Gleen House Eﬂect”?
A) Ammonia and Ozone . ~B) Ca1b0n Monoxide and Sulphm dlowde

C) Carbon Tet1aﬂu011de and Nltlous 0x1de T _D) Carbon dlo\ude_aqd_ Methane.

Indian state w1th the longest coast lme is Gl R R
A) Gujalat DL B) Kerala C) Tanul Nadu D) Andhra Pradesh

The state thmugh whlch TlOplC of Cance1 passes is R o
A) Uttar Pladesh I B) Gujarat - .__C) Bl_har L D)yAssam o

The state with highest mban populatlon is o ' SRR T R
A) Uttar Pladesh _ ' B) Punjab C) Mahalashtla - D) Karnataka

Arundhati Bhattachal yais . B :

A) the Cha1rpe1son of Natlonal Commlssmn f01 women

B) Chairperson of Human Right Commlssmn :

C) the CEO of ICICT | '

D) the first woman Chanman of the State Bank of Indla o

The Chauman of the 20 Law Comnnssmn of Indla 15 :
A) Justice Ajit Prakash Shah B) Justice Leila Seth
C) Justice R.M.Lodha D) Justice Markandeya Katju
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34,

35,

39,

Ranjan Mathat is the

A) Chairman and Managing Director of Vijaya Bank

B) Foreign Secretary of India who has taken over as the countIy s next High
Commission to U.K, :

O former F oreign Secretary of Indza who became Indla s envoy to USA
'-D)CEOolePRO FE : L E

““Who was cxowned the M:ss Umvelse 2{)}3‘? . R R I T
(R "'A) Olwla Culpo B) Man Moghe . C) Gabnela Isle1 ' ZD) Patricia'RQde_rigues

36, Complete lhe seues‘. o o LEh e
- 23B-6-FG- SDSHI _ ' : L

L :"'.:A)C74E9 B)D86C7-ﬁ-_ C)E87D9 _-ji D)W8716__.'.
37, Se]ect the pair of wmds ﬁom the four altematlves that hfts same 1elat1onslnp as ihe_ _
"_'glvenpanhas_ e ' IR o
Given pair — Authent1c1ty Apocryphal

- A) lnteguty Hypocuncal -B) Assertweness Dogmanc e

..":C) Amﬁce Deceptwe D) W1ckedness Nefazlous 5

_ 'F;ndtheoddone ' _ : e ":j-:' S

LDVT in)MQ L 111)PR 1V)DF WM FGH
.A)n) B)m) e C)IV) D)v)

In a eeltam code EXECUTIVE 1s wutten ‘as TCIEUXVEE then how 1s.

'MAUSOLEUM cocled n that language‘? g

- A)AUUCOSIMM = = B) LSEUOAU\JM :' A
- 0) AUEUO%EMM S D) SLUEOAUMM

40,

42

' _-Lookmg ata portlait of a man Ha1 sh sa1d “Hls ;nothel 18 the Wlfe of my fathel s son S
‘Brothers and mstel I have none”. At whose pm rait was chsh lool\mg al? o o
L o _'A) his cousm : B) his nephew -C) his uncle IR D) lns son -
' 4} Sudhanshu is as much older than Koklla as he is youngel than Palveen Nmn is as. old DO
R as Kolqla which of the followmg Statements is wmng‘? o A "
A Koklla is younge1 than Palveen o '_ ~ B) Nitin is youngel than Paween _
' .C) Palveen is not the oldest L D) Sudhanshu is olde1 than Nlttll

'A pelson starts from pomf A and walks 3 km eastwalds B and then turns left and_ _
L _"tiavels thnce that distance to 1each C. He again tums left and tlavels ﬁve tlmes the
- distance he Coveled between A and B and reached his destmation D, The shmtest_
- distance between Staitmg pomt and the destmallon is i -

S AMR2km B)ISkm 0 16km. - D) 18km

43,

_ ' "(1) 1ec§angle 1ep1esents males
© (i) triangle represents _educ_ated
~(iii) e_ircle represents urban
(iv) square i'epi‘eSellts civil servants B

‘In the Fig. who ale ne1the1 .a c1v1l selvant nor educated but is ulban and not_ :

a male where:

A)2 B3
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44,
45.

46.
47,
48,
49,
5_0.

51

53.

54,

A monkey chmbs 30 feet at the begunnng of each hour and rests for a while when he

I denotes '+, “<’ denotes -, '+' denotes s ’, 'A denotes x' ! denotes ‘= ', %'

' ~denotes >' and = denotes ', choose tl;e eouect statement ' '
DAY 13><6+2=3A4 . B)9>5>4-18+9>16

O 9<3<2>1 X 8/\2 o D) 28+4/\2 6A4 +2

. Replace the quesnon ma1k ('?) wnh one among glven alte1 na‘uves o

15, The. dlffelence between the 1ema1nlng two 1ntegels is 12, Whlch is the hlghex

'ofthesetwo 1ntege1s'? S - :
o A)YT0 B)73 SR C)84 R D)85

52,

M3 B2 03 D2s |

Select the combination of numbers so that the letters so arranged accordingly will
form a meaningful word.

RVTNDETIAOI

1 23 450678 90

A)5102674938 -+ -B) 5180427639 () 5617283094 D) 7450823196

In the following arrangement, if total number of pairs of adjacent symbol and letter is

(X); total number of pairs of adjacent letter and number is (Y) and total number of
- pairs ot adJacent number and symbol is (L) are wutlen in the descendmg mdu wlnch

of the following wﬂl indicate the same :
AX Y, Z B)XZY.'_ "'C)YXZ D)XY“Z

36 velncles are parked in a row, After fnst car, the1e is one scontel Aftel the second
car, theze are two scoofers. After thlrd car there are three seootels and 50 0L Fmd how

many scooters are in the second half of the row.
A)iO S B2 C)IS [N RS D)l?

slips back 20 feet before he agam starts chmbmg in the begmmng of next hou. If he
begins his ascent at 8.00 A, M at what time wﬂl he first touch the ﬂag 120 feet hlgh

from the gmund'? o
A)4. OOP M. ’.B) S.OOP.M. - C) 6. 00 P M o D) none ofthese

3 § |10 2 2 1
6 1.5 | 90 2 20 0

335><212><4225 225 7”e(21) R
A8 o B)lO T C)125 D)65 _ _
The avelage of four posmve integers is 72.5. The h;ghest 1nteger is 117 and lowest is .

"The ratio of La\ml S age to the age of hei mothe1 is 3: 11 The diffelence between :
their ages is 24 years. The ratio of then ages aftel 3 yeaxs willbe '

A wholesalel sells 20 pens at the market price of 16 pens to a letallet The 1ela1!e1 in
turn sells them at the market price. The gain per cent of the 1eta11e1 Is
A)20% - " B)25% ; C)30%_ R D)35%

From a point w1tlnn an equilateral triangle, per pendlculals drawn to thlee 51{]68 are 0
cm, 7 cm and 8 cm respectively. The length of each side of the triangle is

A) 7om B)10.5cm C) 14 i em D) 45 em
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55,

56.

57,

58.

6l
62.
63.

64.

65.

- worth of the job, e L
~(A) Job Simplification (B) Job Eva'luatlon

The difference between compound interest and simple interest at the same rate on
Rs. 5000 for 2 years is Rs.72. The rate of interest per annum is

AY6% - -~ B) 8% s O 10% D) 12%
Which of the following tag in HTML is used to add a row to a table .
A) <td> ) <r0w> C) <tuple> o Dyt

- With SQL how can you mseﬁ "Kam as the "LastName" in the "Pelsons table"

A) INSERT ('Kaur') INTO Persons {LastName)

~B) - INSERT INTO Persons (LastName) VALUES (Kaur y
‘C) INSERT INTO Persons (LastName) 'Kaur' .. =~ -
o D) INSERT INTO Pelsons ('Kam) INTO LastName o

| What will be the output of followmg ¢’ p1og1am

#include<stdio, h> _

maln() SR
¢
dnti=8; ool
f01( 1*0 O 1<10)

: printf("\t %d", i ')'

pnntf(“End ”) o

A) 8 8 8 8 8 8 8 8 8 8

“B)  End e
o)} 0123 4 5 6 7 8 9 10 End. -
.D) _ E1101 in thecode RN

Whlch of the followmg is the piocess of'i mcreasmg Iedundancy m the database elthel :
for convenience or to nnplove performance? - : -

L .'_A) Nounahzatmn e B Oplunuallon

0 Comp;latlon . A D) Denonnahzauon _ _ RN _

o 60 . Assume that one- slot hame in Biuetooth hsts for 600 micro seconds (ms) Hoppmg
" and control mechanisms need 250 ms. How many bits of data a thlec slot ﬁame can

~carry? Assume bandwidth of 1- MIIZ and 1 b1t per Hz.

A)1050 . B)ISSO. o160 D)2150

) What is the act of takmg up palt t;me jOb 01 busmess 01 mdustual umt snmultaneousiy o
~ with that of the 011g111a1 job? _ ' s '
~/(A) Half Moon Lighting " i (B) Dally L;ghtmg
(C) Noon Lighting -~ =~ (D) Moon- nghtmg

................................

s a systemauc techmque wh;ch aims at detexmmmg the

- (C) Job Rotation - x L (D) Job emlchment
' Transacuonai Analyms was glven by SR s
(A) T.A Hartis (B) . James o (©) E. Be_r_nes (D) Henry Fayol
The tenn Re-engineering was gwen by R R
(A) Hammel & Champy ~(B) Taylor . (C) Mayo_ (D) Peter Drucker
Wage fund theory is given by '
(A) Davis Richard (B) Karl Marx
(C) Adam Smith/J.S. Mill (D) Clark
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66.

67.

68.

69.

70.

71,

72

L4,
78.
76.

77.

78.

The HRD subsystem with development dimension has been evolved by
(A) Dharani P. Sinha (B) D.M. Pestonjee (C) T.V. Rao (D) Udai Pareek

It is an approach in which employee and supervisor jointly establish clear measurable
performance jobs for the future.

(A} Force choice method (B) MBO

(C) BARS PR . (D) Assessment Centres

Who is the fathe1 of Quallty Cucle‘? - . _:_ : i

(A) Lewis B lslnkawa (O Udpa i (D) RobenOwen 3
The nm slyle (1.1) of thc Managexnl/l,chelslnp Gud is lhe .'._ TP

management under wlnch the managex is lcast concemed with e1the1 people and
management. ' : Co

(A) Impoverished - _ _(B) Country Club

(C) Task Management (ID) Team Management
Which of the followmg is not adjudicatlon machinery under the ID aci?
(A) Labour Court = o (B) Court of Inquny

: (C) Industrial Tribunal - D) Natlonal Tnbuual S

‘Which is h1dden self in the J ohari Wmdow‘?

(A) Public Alea _ (B) Blmd Area - (Cj Prlvate Area - _._'('D)_D_ark Area

Which of the followmg is tlme based incentive plan?

~(A) Profit sharing plan SR (B) Halsey plan _
_ (C) Priestman’ splfm _ '. B g (D) Rowan plan '

7. _'Whlch of the followmg isa method of 111d1catmg the feeimg of acceptance or 1eJect10n

-among membels ofa group? oo

(A) Mutuahty ' (B) Slmulahon '_(C_) T-group (D) _Sociometry_ _ L
-*Gang- planl\’ means Con R S :
" (A) Quick Commumcation (RIS (B) Veitlcal Commumcahon
X(0}} Honzontal Commumcatlon e (D) Upwatd commumcatlon =
- In Vmom s E\;pectancy Themy, Valence means ' -
. (A) Salary - (B) Stiength of an md1v1ciual splefelence fcn a pamcular outcome S
SN (93] Knowlcdge of planning (D) Supewzsmn SR e
Ohio state leadership model 1dcnt1ﬁed two leade1 behawoul vanables These are:
1. Drive 2. C0n31de1a£10n - 3 Intelhgence S Inmatmg Structule .
Codes: - = RN
(A) l'and2 o (B) 2and3 R (C) _2and4 EENEY _{D)_ 3 and4
Who Sald there alethlee actms of IR? PR o
(A) Lester (B) Dale Yode1 (O JolmTDunlop '{D) Mc Kersie

INTUC, AITUC HMS and UTUC adopted the code of conduct for tlade union

- rivalry in the year

(A) 1948 - (B) 1958 | (c_) _1968 | ) _1978
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79.

80,

81
82,
83.
B 8s.

86

According to the Trade Union Act, who among the foliowmg can form the trade
union?

{A) Permanent Employees (B) Temporary Employees
(C) Contract Labour (D) A]l of the above -
_Employee State Insurance Act was enacted in o
"(A) 1984 (B 1948 PR (C) 2004 3 (D) 1981
Wlnch Schedule of the 1D Act 1947 deals wnth Pubhc Utlhty Serwces‘7 _
(A) First Schedule . " (B) Third Schedule
- {O) Fomth Sche(lule '_ e (D) Fifth Schedulc o
Wluch of the followmg is not Extia-mmal laboul welfammeasme" L
(A) Canteen B Spmts _ (C) Hospital (D) None of the above
'Tmsteeshlp themy of labour welfale was pxoposed by SR '
~ (A) MK. Gandhi RS - (B) V.V.Girt i
_; (C) Bal Gangadha1 Tilak - (D) Jawahaﬂal Nehlu PR _
' The concept that wages 1ep1esent the mar gmal dlscounted produet of laboul was_ _
givenby e L SRRy
) Taussig R '-(B) Richardo '_ (C) J,S.Miil_ (D) Edwm I“hppo L
Unfan lab0u1 Plactlces a;ehsted in [ AR R PR o R
" (A) Trade Union Act, 1926 .~ = - (B) Factoues Act 1948
{C) Equal Remunexatlon Act (D) Industnal Dlspute Act
“ Arrange the follo‘.vmg stages of group dynamlcs in 11ght sequence
A Nonnmg o B) Pelfmmlng o C) Stounmg : D) Fmrnmg
Codes: R S
'(A)DCAB (B)ABCD - __(C)D,C,_B,A (D)CDBA

C0 0 (A) Conflict of instructions from two or m01e supenols .

T8
89.
9.

91.

92,

Sea!al Punelpicmfmsto the =~

(B) Resp0n51b1hty ofa submdmate toa superior -

- {C) Delegation of authouty at all levels of an or gamzat10n _ : -
'_(D) Ex1stence of a clea1 hne of auth{)nty in all palts of the or gamzatlon

In uansactlonal Ana1y31s the “l am ok you are not ok” life posmon is also 1efe11ed to oo Vi

as co o
(A) Bossi_ng (B) Avoidant F (C) Difﬁdent ' ""(D) Bol:ler_n_ian
The Human Relation Theory does not lay emphasis on NS S

- (A) Principles .~ 00 T (B) People
-(C) Human motivations = . L (D) Informal group functton
} The element whxch is not the pa1t0f duectmn is SR o

- (A) Leadelshlp (B) Dwmon of w01k - (O) Superwsmn E '(D) Mo_ti_\fat_ion_
“Which pattein 1eﬂects a pure executwe foun of management‘7 : ' B
(A) Functional - (B) Line (C) Lme and Staff (D) Commlttee
Egalitarian behaviour refers to P
(A) Natural behaviour (B) Moral behaviour
(C) Social behaviour (D) Ethical behaviour
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93.

94,

95,

96,

97,

99,

o100

According to Fielder Contingency Model of leadership, which of the following is a
situational variable? '

(A) Leader-member relationship (B) Organisational system

(C) Degree of fask structure (D) Leader position power

‘The amount sufficient to enable a worker to live in reasonable comfort, having 1egald
to all obllganons to which an avexage wo1kex would 01d1na111y be sub_]ect to

(A) annum wage (B) Fau wage (C) lemg wage _ (D) Nommal wage

'-'Whi(:h of the followmg is not an OD techmqueV fhe

~(A) Sen31t1v1ty Tlammg_ LB Delpln Icchmque
_(C) Suwey Feedb%h R () Grid T;ammg
Soc1al secuuty plO\’lded by a means test is called o
~(A) Social Insurance - ~(B) Mutual Insurance _
' (C) Social Assurance - (D) Soc1al A351stance DR
‘Which of the foiiowmg is riot an action of classwal change pmglamme‘? .
“{A) Reﬁeezmg (B) Removmg (C) Mov;ng o (D) Unﬁeezmg
'._'T1a1n1ng in the cond:tlons smnlar to a class room is known as: :
S (A) Vestibule halmng B Applentlcesth P
O Roleplay L (D) Case study R
“Set on” and “Set Off” is related to_ R SR
“(A) Payment of Bonus Act EEEPR o (B) Minimum Wages_ LA
: (C) Fan Wages o ' (D) lemg Wages _
.................................. dcvelopcd what ihey cﬂlcd the ks Gencuc palailei leammg . : o
' s_t1uctu1_6.- .

E (A) Kurt ; .' (B) Bushe and Sahm (C) Dale and Zand (D) F W_Taylor |
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Answer Key 17.01.2015 (M) (Manager HR)

Ans,

76
17

78

79
80

N
82

83

84

85
86

87

88

89
LTV

S TIREE

92
93

——
o5

96

97

98
99

100

3Ans

51

52
53
4
55
56

57
158

59
60
61

62 -

63
v T

65
66

68

69 -

70
71

72

73

74
15

Ans.

26

27
28

29
30

31
32

33

34
—
36
37
38

39
40

41
42

43
44

45
46

47
48

49
50

Ans
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13
14
15
16
17
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19
20

21

22

23
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